	Find the future value of the following annuity.

$500 deposited at the end of each 6-month period for 8 years; money earns 6% compounded semiannually.

$500 initial   6%/2 = 3% every 6 months
6 m 515

12 m 530.45

18 m 546.36

24 m 562.75

30 m 579.64

36 m 597.03

42 m 614.94

48 m 633.39

54 m 652.39

60 m 671.96

66 m 692.12

72 m 712.88
78 m 734.27

84 m 756.29

90 m 788.98

96 m 802.35

Is there a formula that I can use for this problem? If so, how can I plug in the numbers?


	Find the amount of each payment that must be made into a sinking fund to accumulate the following amount.  (Recall, in a sinking fund, payments are made at the end of every interest period.)

$57,000; money earns 6% compounded semiannually for 8 ½ years.

The periodic payment R required to accumulate a sum of S dollars over n periods with interest charged at the rate of i per period is:





S = $57,000

n = 17 (semi-annual periods in 8.5 yrs)

i = .06
R = $2020.35
R =    (.06)57000

       1 + .06)n - 1
        
What should be plugged in for n? Do I have the numbers plugged in correctly for the exception for n?


	Find the present value of the following ordinary annuity.  

Payments of $877.34 monthly for 17 months at 9.4% compounded monthly.

$17893.03 after 17 months

SEE TABLE BELOW (table A1)
Is there a formula that should be used instead of using the table below?

	When the Lee family bought their home, they borrowed $115, 700 at 10.5% compounded monthly for 25 years.  If they make all 300 payments, repaying the loan on schedule, how much interest will they pay?  (Assume the last payment is the same as the previous ones.)

Use: M = P [ i(1 + i)n ] / [ (1 + i)n - 1] 

Where M is the monthly payment, P equals initial amount and i = r/12. The same formula can be expressed many different way, but this one avoids using negative exponentials which confuse some calculators. 
Can someone plug in the numbers and breakdown the problem? I am not getting the same answers?
Equates to monthly repayments of 1092.42

Over 25 years this is: $327,726

They will pay $212,026 interest!


	

	

	TABLE A1

0
	877.34
	0.78%
	(9.4/12)
	
	
	
	

	1
	1761.523
	 --> (current balance X 1.0078) + 877.34
	 --> EACH MONTH

	2
	2652.603
	
	
	
	
	
	

	3
	3550.633
	
	
	
	
	
	

	4
	4455.668
	
	
	
	
	
	

	5
	5367.763
	
	
	
	
	
	

	6
	6286.971
	
	
	
	
	
	

	7
	7213.35
	
	
	
	
	
	

	8
	8146.954
	
	
	
	
	
	

	9
	9087.84
	
	
	
	
	
	

	0
	10036.07
	
	
	
	
	
	

	10
	10991.69
	
	
	
	
	
	

	11
	11954.76
	
	
	
	
	
	

	12
	12925.35
	
	
	
	
	
	

	13
	13903.51
	
	
	
	
	
	

	14
	14889.29
	
	
	
	
	
	

	15
	15882.77
	
	
	
	
	
	

	16
	16884
	
	
	
	
	
	

	17
	17893.03
	
	
	
	
	
	

	Are my formulas and answers correct for the following problems?
Find the monthly house payment for the following mortgage. 

$56,890 at 10.74% for 25 years.

P = $56,890, Interest = .1074/12 = .009, 12*30 = 360

R = 56,890

    A360┐.009

R =       56890       .

   [1 – (1.009)-360/.009]

R =     56890     .
      .9602643653

R = 106.6960406

	Personal Finance  Michael Garbin owes $5800 to his mother.  He has agreed to repay the money in 10 months at an interest rate of 10.3%.  

I = PRT

I = 5800(.103)(10/12)

I = 5800(.103)(.8333333)

I = 497.83

How much will he owe in 10 months?  

5800 + 497.83 = $6,297.83

How much interest will he pay?

$497.83



	Personal Finance  To buy a new computer, Mark Nguyen borrows $3250 from a friend at 9% interest compounded annually for 4 years.  Find the compound amount he must pay back at the end of the 4 years.

A = P(1 + i)n
A = 3250(1 + .09)4

A = 3250(1.09)4

A = $4587.64




